RESOLUTION NO 24-R-74

A RESOLUTION TO APPROVE FALL TREE PLANTING PROJECT

WHEREAS, the Tinley Park-Park District is located in Cook & Will Counties of Illinois, and

WHEREAS, Requests for Proposals were sent to nine contractors and three contractors submitting quotations; and

WHEREAS, work will consist of planting 55 new and replacement trees throughout the park system; and

WHEREAS, staff recommends Apple Grove Systems for the Fall Tree Planting Project for \$25,265; and

WHEREAS, The Board of Commissioners of the Tinley Park-Park District finds that it is in the best interest of the District to approve the fall tree planting project to Apple Grove Systems for \$25,265.

NOW, THEREFORE, BE IT RESOLVED by the Commissioners of the TINLEY PARK-PARK DISTRICT as follows:

SECTION 1: The Preambles hereto are hereby made a part of, and an operative provision of, this Resolution as if fully restate herein.

SECTION 2: The Request attached hereto as Exhibit 1, and made a part hereof, is hereby approved.

SECTION 3: That this Resolution shall be in full force and effect on the date approved and passed by the Board of Commissioners of the TINLEY PARK-PARK DISTRICT.

Approved and passed this	16th day of October	2024.
AYES: 4		
NAYS:	_	
ABSENT:	-	
ABSTAIN:	_	

TINLEY PARK-PARK DISTRICT

Marie Ryan

President, Board of Park Commissioners

Attest:

Ashley Rubino

Secretary, Board of Park Commissioners

EXHIBIT | Resolution No. 24-R-74

THIS PAGE LEFT BLANK INTENTIONALLY

Apple Grove 2910 EAST BRUNSWICK ROAD BEECHER, IL 60401-3008

Estimate 1626

ADDRESS
Tinley Park Park District
8125 West 171st St.
Tinley Park, IL 60477

SHIP TO Tinley Park Park District 8125 West 171st St. Tinley Park, IL 60477

DATE 09/20/2024

TOTAL \$25,265.00

ACTIVITY		QTY	RATE	AMOUNT
Tree planting Bid for the 2024 Fall Tree Planting: All trees will be planted per Industry standards and are guarant	reed for One Full Year			
Landscaping IL:Landscaping IL Buy & Install 6 Bald Cypress Trees		6	460.00	2,760.00
Landscaping IL:Landscaping IL Buy & Install (7) Kentucky Coffee Trees		7	450.00	3,150.00
Landscaping IL:Landscaping IL Buy & Install (7) Tulip Trees		7	460.00	3,220.00
Landscaping IL:Landscaping IL Buy & Install (7) American Sweet Gum		7	470.00	3,290.00
Landscaping IL:Landscaping IL Buy & Install (7) White Oak Trees		7	465.00	3,255.00
Landscaping IL:Landscaping IL Buy & Install (7) Miyabe Maple Trees		7	465.00	3,255.00
Landscaping IL:Landscaping IL Buy & Install (7) McKSentry Trees		7	450.00	3,150.00
Landscaping IL:Landscaping IL Buy & Install (7) Upright Eastern White Pine Trees		7	455.00	3,185.00
	SUBTOTAL TAX (8.75%)			25,265.00 0.00
	TOTAL		\$25,265.00	
				THANK YOU

THANK YOU.